pandas as
numpy as np
matplotlib.pyplot as plt
rt scipy as
from scipy import integrate

8.1s

alpha = 1
beta
delta
gamma =
x8=3
ye=2

derivative(X, t, alpha , beta, delta , gamma):
X,y = X
dotx=x*(alpha -beta*y)
doty=y*(-gamma + delta*x)
return np.array([dotx,doty])

Nt-1880
tmax=3e
t=np.linspace(@., tmax, Nt)

Xe=[x8,ye]
res= integrate.odeint(derivative, X8, t, args=(alpha, beta , delta, gamma))
x,y-res.T

plt.figure()

plt.grid()

plt.title( McBobog Obeint’)
plt.plot(t, x , ° » label="Npépara’)
plt.plot(t, vy,

plt.xlabel( "X

plt.ylabel( MA

plt.legend()

plt.show()

MéBobog Obeint

« [poputa
— NiKou

15
¢ U, [pepec]

plt.figure()

I-np.linspace(1.e, 6.9, 15)

for sheep in I :
Xe=[sheep, 1.0]
Xf-integrate.odeint(derivative, X, t, args=(alpha, beta , delta, gamma))
plt.plot(Xf[:,8], xf[:,1], "-", label = "$ =3 +str(xe[a]))

Text(6.5, 1.8, "Tpapnua KapmuAmv TTadung’)

Tpdgnua KapnuAu

7142857142857
2142857142

o




e(D ,t=6 , alpha=1, beta=1 , delta=6.75 , gamma=1.5)

delta, gamma))
)

Direction fields

= T
—Xp. =10 “
Xxg= 1:5555555555555556
= x;=2111111111111111 A
—— xg= 2 BBEEBEEEEEEEEET
Ng=3.22222322332273723 N
—— Wg=3TTTTITTITTITTTIT Y
x;=4.333333333333334
xo =4 8888888888888 89
Mo =5.444444444444445

Xg= 6.0 1

MAnSog Ak

MiRdoc mpopdTwy




X, t, alpha , beta, delta , gamma , pi , p2):
x

a, gamma, pi , u2))

Mpdpnpa Kopmuehwy ZTdBunc pe ko ywplg ouykopubr
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